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Anil, Dinesh and Deepak together can complete a work in 40 days. Anil and
Dinesh together can complete the same work in 50 days. In how many days
Deepak alone can complete the same work?

3ffd, fa-=1 81k diue © T 1Y 40 &1 T U H1H Y1 PR Gobd o | A 3R
[-=1 U 1Y Il H1H B 50 fa-! H GRTHR Jobd © | aldd 3fbdd fdbd- fa-1
3l DI DI GRT DR bl 52

a) ) days
b) )0 days
C) )0 days

d) )y days
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The difference between the simple interest and compound interest (interest is
compounded half yearly) on a sum at the rate of 25% per annum for one year

is T 4375. What will be the principal?
Ud ay & Q1T 25% Uid 98 Bl &R I JrYRUI A6 3R dshdla TS (TS 3
dIf¥p U A JINSTd BIdl 8) & dld B 3R 4375 3UY g | HAY- FT GHTI?

a) 280000
b) 35000
C) 30000

d) 75000
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A shopkeeper sells two articles, one of them with a profit of 10% for X 1100

and another with a loss of 10% for X 900. What will be the profit or loss
percent?

0P GPIMER gl qv&gl\ a4l 5, forH 9 %wﬁ 10% & <Y & 1Y 1100 39T W
3R GIRI DI 10% D1 gl & 1Y 900 YT YR a9l g | 1Y T gl Uld=rd o1

SIT?

a) 1000
b) ither profit nor loss

C) % profit

d) % loss
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A bag has X 785 in the denomination of ¥ 2, X 5 and X 10 coins. The coins
are in the ratio of 6 : 9 : 10. How many coins of X 5 are in the bag?

UH a1 HT 2, T53RT10 D {adhl &b AR H 78551 Radh 6:9:10 b
HUId H g1 97T H 2 5 @ fobd Ryab g2
a)
b)
c)

d)
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Three cubes each of sides 7 cm are joined end to end. Find the surface area
of the resulting solid.

dF 99 oot e Yofl 7 Il ¢ ©R 9 8R d@ 9o gu ¢ | Rl 3149

BT gEIT & d JTd Difor |
a) 86 cm?
b) 86 cm
C) 32 cm?

d) 82 cm
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If a 32 year old man is replaced by a new man,then the average age of 42
men increases by 1 year. What is the age of the new man?

H%Qaiaz‘oﬂﬂﬂwcm Udh -TU UoY GRI §aGd (a1 Sl 5, df 42 GO Pl
3 Gd 311g 1 99 &g Sildl o | U YSY D Y T 572

a)
b)
c)
d)

24 @ & 2
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If 40% of a number is 105 more than the one-fourth of that number, then what
will be the difference between the number and 35% of the number?

gfe fopxdt T BT 40% 39 T=AT & Ub-dIdTs A 105 39D g, dl W= 3iR
T & 35% did T 3 gIHI?

a) °
b) s
C) 5

d) .
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P alone can complete a work in 16 days and Q alone can complete the same
work in 20 days. P and Q start the work together but Q leaves the work 7
days before the completion of work. In how many days the total work will be
completed?
P 3{dd U BT Bl 16 a1 H U R Gl © 3R Q 3fdbdl 33T HIH &l 20 [l
U QRIT IR Dl gl P 3R Q [HAHR BH YE B © didd Q DHURIBH I 7
[&- Ugd pH ©IS ¢dl o | $d HF fba- oAl H g1 gRM?

a ) vays
b ) days
C) days

d ) days
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Raju purchased glasses at the rate of Rs. 15 per glass and sold them at the
rate of Rs. 12 per glass. On selling 42 glasses, what will be the loss
percentage?

RIS 15 3 Yl I P &R I 9=Y WG 3R 35 12 30 Ufd 9= &l & 3
o1 1| 42 999 &9 WR, g Uid=Id &1 g2

a) 33%
b) =
C) 1%

d) .28%
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Out of 100 articles, 25 articles were sold at 25% profit and the remaining
articles were sold at 25% loss. What will be the total loss percentage?

100 GXG3HT H o, 25 IIG31 Pl 25% b AIH UR o1 74T 3R AY T 31 Bl 25%
@I BT U &1 71| D gl Uid=Id &1 g2

a)
b) 5
c)
d)
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Selling price of first article is Rs. 960 and cost price of second article is Rs.
960. If there is a profit of 20% on first article and loss of 20% on second

article, then, what will be the total loss?

ag ! a¥q D1 fashd e 960 ¥UU & SR g 9¥g BT 9 Hed 960 34 ¢ Afe
ggail a%d UR 20% BT A1H BIdl & 3R ORI 93 R 20% & 8l Bldl ©, dl B

Sli<l &1 11?2
a) s-36
b) s
C) 5. 20

d) 5. 32
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A motorcycle is moving at the speed of 25 km/hour and its speed is increased
by 7 km/hour at the end of each hour. How much time it will take to cover a
distance of 225 km?

U Hiexasiad 25 fdHl/der & 91d I 9d Yol § 3IR Ul Uc & 3id H U]
a1d 7 fhHirher 9¢ Sl o 1 225 [HH! ®f gl a8 B H 3 a1 I8y ATR1?

a) 2
b) hr
C) 2

d) hr
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The ratio of the areas of two triangles is 1 : 2 and the ratio of their bases is 3 :
4. What will be the ratio of their height?

&l YST & &hdl &1 SUId 1 : 2 § a4T 34D HTEURI BT 3-UId 3 : 4 5| IADI
3>d12d] BT 3-Uld T SHI?

a) °°
b) :3
c)

d) s
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A bag has Rs. 840 in the denomination of Rs. 1, Rs. 2 and Rs. 5 coins. Rs. 1,
Rs. 2 and Rs. 5 coins are in the ratioof 8 : 1 : 5. How many coins of Rs. 5 are
in the bag?

U 4ol | 1 30, 2 39 3R 5 398 & [Gadh| & Hega| § 840 3 g | 1 UL, 2
PYY R 5IYY S Rad 8:1:5 P JUId H ol ddl H 5 39 & fdoa- Rigd g2
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Intelligence test scores of 9 candidates appearing in an online examination
are as follows: 3, 7,6, 5,6,4,9, 6 and 5.

Find mode of scores.

-

U A5 WI&T H IR gl dIdl 9 IWIGAR| & glaHdl UREUT 3 Y
FIART13,7,6,5,6,4,9,6 3R 5

3{h| BT dgdd ITd DTS | a)
b)
c)
d)
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A dyes is made by mixing red and yellow colors in the ratio of 2 : 5. If the
amount of red color in the dye is increased by 25%, what will be the
percentage of yellow color in the new dye to be made?

TS TN I ST Pl Ard AR U T P12 : 5 & 31 H [HATHR §-1471 Sl 3 |

gfe SIg H Ard I ®F AE B 25% I d&™T Sdl §, df -1 arel 15 815 H Ui
I BT U fhdqr sR1?

a)
b) 333%
C) 567%

d)
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A tank has a leak that will empty it in 17 hours. A tap is opened which enters
12 liters of water in one minute and now the tank is emptied in 24 hours. How

many liters will be the tank capacity?

Uh ch H UH R § ol 3 17 el H Gielt H S| U -Td Jidl oifdl g o
U fiIe § 12 CileX UM YARI 811 © 3R 3fd ¢ 24 el § Aldl gidl ol ¢ DI
&HdT [ d- Tiiex &l giil?

a) 500
b) 700
C) 500

d) 965
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A sum of X 11700 becomes X 16848 in 2 years at the rate of compound interest.
If the interest is compounded annually, then what will be the rate of interest?

% 11700 DI Y-RI¥ 2 a9 H Iehdla 4TS UR X 16848 Bl Sildl ¢ | Al =TS
qifties GAIfSTd ©, dl STl Bl &R 1 IiI?

a)
b) 3%
C) 5%

d) )%
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The length, breadth and height of a solid cuboid is 14 cm, 12 cm and 8 cm
respectively. If cuboid is melted to form identical cubes of side 2 cm, then what

will be the nhumber of identical cubes?

0P 31 914 Bl ddls, sy 3R 3Hdls HHTT: 14 JHI, 12 HT 3R 8 YHI gl TG
T D1 QYT 2 JHT YST dId U 99 §91- S1d ©, dl JHH 941 bl H-AT H1

g2
a) 8
b) +
C) s

d) s




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The average weight of all the vehicles in a parking is 4000 kg. The average
weight of 12 vehicles is 6000 kg. Average weight of the remaining vehicles is
3000 kg. What is the total number of vehicles in the parking?

U Urfh T § Gt 1841 1 31gd 9919 4000 fHUT T 1 12 91811 BT 31d 9o 6000
[hU1 T | AN argHl T 3{d doi- 3000 {31 © | Urich 1 H d1gH[ Bl Dl IS T 62

40

36

20

30




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The diagonal of a square is 14 cm. What will be the length of the diagonal of the
square whose area is double of the area of first square?

U 01 Bl f[dd Ul Df ddlg 14 I 1 39 71 DI [dH Ul B ddls 1 gRIT forgadhT
& Ugd 97 & &AKhd DI GIHT 572

2672 cm

142 cm

28 cm

21v2 cm
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Height of a right circular cylinder is 12 cm. If the radius of its base 21 cm, then
what will be the curved surface area of the cylinder?

Uh did I da- Dl Gl 12 941 g1 Al g8 SR &I Asar 21 94t g, dl daA

BT b1 U T G2

1544 cm?
1584 cm?
1456 cm?

1632 cm?
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The length of a rectangle is 16 cm. If the length of diagonal is 20 cm, then what
will be the breadth of the rectangle?

U 3Ad Dl adls 16 TH! g | Ale B0l & ddrg 20 TH ©, dI 3[Ad Df dIsls &
gil?

8 cm
12 cm
10 cm

14 cm
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Manish goes to his hometown at the speed of 40 km/hr and returns to his home
at the speed of Y km/hr. Distance between his home and hometown is 360 km.
If he takes total 21 hours, then what is the value of Y?

A1 3[04 §IHer3 40 fhdl/Aer & 71fd & Sirdar g SR Y fhdlder &t vfd 3 s
gR IO 31T 6 | 39D @R 3R GIHCI3H & did DI gl 360 fbHl g1 afe 98 T 21
el I ddi e, dl Y &1 aH |1 8?

25 fhdi/det
28 fhdi/der
30 fpairder
33 fpai/der
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P and Q together can complete a work in 20 days. If P alone can complete the
same work in 36 days, then in how many days Q alone can complete the same
work?

P 3{R Q UhH1Y U D1 Dl 20 fa-l H GR1 B Fobd ¢ | Afd P 3fbel JHH H1H Dl
36 &l T I SRl 5, Al Q 3{dbd A DH &I fdba- &1 § IR &R ghdl g2

48 days
42 days
45 days

51 days
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The length of platform is double of the length of train. Speed of the train is 144
km/hr. If train crosses the platform in 30 seconds, then what is the length of the

platform?

GICHTH B dals o DI ddls @I GIIHT 6| < ®i 71fd 144 fHHider g1 afe <
eHH B 30 YHS H UR Dl o, dl WehIH dif ddlg a1 572

600 metres

800 metres

500 metres

400 metres
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The marked price of an article is 1200 and discount offered is 31%. If profit is
15%, then what will be the cost price?

Uh a¥%d DI 3ifcbd Hed T 1200 © 3R &l TR B¢ 31% 5| dfc A1 15% @, dl
e T ITI?

3640

X704

748

X720
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If the length of a rectangle increases by 50% and the breadth decreases by
29%, then what will be the percent increase in its area?

gfG U 1A &I ddlg H 50% B dia 3R AISTs H 25% @ HHI gldl ©, dl 3D
gadT & d | fahd-l af< gril?

15%

17.5%

12.5%

25%
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The selling price of the first article is X 470 and the cost price of the second
article is X 470. If there is a loss of 20% on the first article and a profit of 20% on
the second article, then what will be the overall profit or loss percentage?

qgdil 9% D1 A Ted T 470 © 3R SR a¥d I hd ™ % 470 o | Ifd Ugd! avd
R 20% I B 3R GIRT I¥g UR 20% P A4 BIdl &, dl Dl a1y IT gl Uld=rd
T GRTI?

2.22% loss
4% profit
No profit no loss

1.80% loss
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- S 0y o =\
IaQ MU Jlp sl P HITHD] Il g7

What is the median of the given data?

1,3,6,2,95,8, 3,8, 2

2.5
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A sum of 10000 is lent on simple interest at the rate of 15% per annum. What
s the difference between Simple interest for 6 years and the simple interest for
2 years?

2 10000 DI Y-RIA Bl 15% Ufd I8 DI LRI SO U H 0T ST SId1 g1 6 98 b
foTT ITRUT SA19T 3{R 2 99[ & fold TR A5 & &1 BT 3R J1d DIford |

<4000

8000

6000

34500
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A train is moving with a uniform speed. Train crosses a bridge of length 243
meters in 30 seconds and a bridge of length 343 meters in 36 seconds. What is
the speed of the train?

Uh ¢ UhHHT TTid 9 gl g | ¢ 243 HieR dalg dldd Jd &l 30 s H 3R
343 TR ddlg a1 Ud Bl 36 bs H UR Hil o | < DI Ifd H1 872

60 km/hr

72 km/hr

64 km/hr

65 km/hr
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The product of two numbers is 720. If their Least Common Multiple is 360, then
what will be the Highest common Factor of these two numbers?

~

&l ARATS! 1 UG 720 § 1 gic 3-hT dgdH JHYG 360 &, dl 34 G-l
I3[ DT HgdH JHYd<dD T GRTI?

60

20

120
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A person buys 25 kg of rice for Rs. 600 and sells them at a loss equal to the
selling price of 5 kg rice. What will be the loss percentage?

U Hlad 25 [T 91ad T 600 H @RIl & 3R 59 5 [HUT 919d & Aoy Jed o
SRI&R BIIH UR a9l g | g1 Ufd=ra o1 g

14.28%

16.66%

25%

20%
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P, Q and R can complete a work in 30 days, 15 days and 20 days respectively.
P works on first day, then Q works on second day and then R works on third day

and so on. In how many days the work will be Completed?

P, Q 3R R U B @l hHRT: 30 &I, 15 f&1 3iR 20 faAl H QIR qdhd g1 P
05 (6 S DRl g, R Q TR & B HRal © SR [HR R IR &4 PRf &l
¢ iR ol oA 3 Hi ORI Tedl &1 P fba fai & gz g

20 days
21 days
22 days

19 days
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If length, breadth and height of a cuboid increases by 10%, 20% and 15%
respectively, then what will be the percentage change in its volume?

gf Udh 94T @1 ddls, dIsTs 3R Fdls A 10%, 20% AR 15% d¢ STl o, dl
sqd SMIdH | Uld=rd uiad &1 gRT?

47.4%

45%

51.8%

54.2%
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If the average of five consecutive odd numbers is 17, then what will be the
highest number among them?

gf 919 pHNTd [AuH SBT3 BT {™d 17 §, dl 340 I Ja dof IBAT 1 gRIT?

21
25
19

23.5
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The length of a rectangle is 24 cm. If the length of diagonal is 26 cm, then what
will be the breadth of the rectangle?

U A DI ddlg 24 I | Tle [AH0l o ddlg 26 THI &, dI AT DI dISTs &1
eIl

12 cm
14 cm

15 cm

10 cm
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If two successive discounts of 25% and 20% respectively are given, then what
will be the net discount percentage?

gfc hHT: 25% 3R 20% B! &l hitid Fe ol Sl g, dl Do ¥ UfdId =1 g2

42.5%

45%

50%

40%
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The mixture of 18 liters has acid and water in the ratio of 5 : 1. When X liters of
water is added to the mixture, the ratio of acid and water becomes 3 : 1. What is
the value of x?

18 TIex & MAUT H o] SR U 5: 1 & 3-IUTd H g | 5d x @lex il ol (o §
eI Sirdl @, ol 3% 3R YT &l 3UT1d 3 : 1 51 SIdl g | x &l 09 &A1 52

1

2




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Four bulbs light up at the interval of 2, 3, 4 and 5 minutes respectively at some
moment. They are lit up together at 8:00 pm. At what time will all bulbs light up
together?

IR ded DS JHT b [T DHTT: 2, 3, 4 3R 5 [ P 4 -3 3=<aRIall TR
Sidld & | 9 I[d 8:00 &5l U 1Y 1e] [hU U U] 3{iTell dR by 1T R i

dcd T 1Y SIcii|?

Night 8:45
Night 9:45
Night 8:30

Night 9:00
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The ratio of length of two trains is 6 : 5 and the ratio of their speed is 3 : 2 The
ratio of time taken by them to cross a pole is:

Gl ¢HI Bl Tdlg DI U 6 : 5§ IR 3D 1l DT 3UId 3 : 2 5, U Uld Bl UR
D I I GRT U U 97y &I 3UTd
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The driver of a mini bus driving at 82 km/hr locates a motor bike 150 m ahead of
him. After 20 seconds, the motor bike was 100 m behind the bus. The speed (in
km/hr) of the motor bike is:

82 fhHl/der & i I EN Yol UH (941 99 &1 dldd 39+ 150 HieX 3N 9d Iol
Udh HIeR dI5d Bl ¢ddl gl 20 YHS b dig, Al dI5d & & 100 HIex Uley 1|
HicX digc &I T1id (fb Al H) B

39

37

35

40
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Neeraj covers two distances of 10 km and 20 km in 1 hour and 5 hours
respectively. What will be the average speed of Neeraj for the whole journey?
RS 10 Tt iR 20 fobHl @t &1 GRAT HHRE: 1 6 3R 5 6 H a0 HRdl o | Jyul
AT & Q1T 4IRSl B 3Id =1l 1 g2

4 km/hour

7/ km/hour

5 Km/hour

6 km/hour
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A man can row downstream a distance of 9 km in 2 hours and takes 6 hours
while returning to the starting point. What is the speed (in km/h) of the stream?

U el 2 12 H 9 fardl ol gt 4RT & 3% ST Havdll © SR YTl foig W
dled H 6 9¢ ddl g | URT & (fhHi/eer /) 7ifd =11 g2

2.5

1.5
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The average weight of a certain number of students in a group is 54 kg. if 12
students of average weight 52 kg join the group, then the average weight of all
the students in the group decreases by 750 g. What was the number of
students, initially in the group??

Uh JHg H Sl I Ud AT 1 o1 3Id doi- 54 fhadri g1 afe 52 fhdiimd
goi- Tl 12 B GHg H A 8ld o, dl 998 H SHE| BT 3{d a6 750 UTH &
gl OIdl o | URY H JHg H S I e fdoa ol

18

24

15

20




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Surbhi can do a piece of work in 24 days. She completed 3/8 of the work and
then left it. Amit can complete the remaining work in 10 days. Working together,
they will complete 125% of the same work in:

R U HTH DI 24 {1 T B Abdl g1 I 3/8 HTH G fhAT 3R [ I BIS

fear| Y H1 B
P 125%

3 10 &1 ¥ U1 HR AdT g 1 U A1 DI BR-

T ORI HRA -

R, d 341 BH

10 days
9 days
12 days

15 days
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The ratio of ages of A and B, 4 years ago, was 5 : 7. The ratio of their ages after

4 years from now will be 7 : 9. What will be the ratio of ages of A and B after 12
years from now?

43&13@{“%5&31@@3%!:15 7 71 3{d Y 4 94 dlc 3P| Y DI
&':LL(795 |&ﬂ€12aﬁﬂldA&QBq)\}%qqk}rufdt SITT?

wd

8:13

13:17

9:11

15:19
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Two trains A and B, 186 m and 200 m long are running at 64 km/h and 80 km/h,
respectively on parallel tracks. If they are running in the opposite directions,
then how much time(in seconds) will a person sitting in the first train A take to
cross the other train?

al ¢ A 3R B, 186 HIx 3R 200 HieR T, GHMIAR USRI UR HhHRT: 64 fbHl/
el 3R 80 fdhHl/eer ¥ 9d Yol o | dfe d faulia fazmsii & 9 8! &, d ugdl ¢ A
T &6 Alad Bl GIRT ¢ Pl UR B | fha-1 90y (b H) AT

5.5

4.5
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The ratios of spirit and water in vessels Aand B are 4 : 5 and 7: 11, respectively.
The contents of A and B are mixed in the ratio 2 : 5. What is the ratio of spirit
and water in the resulting solution?

O A 3R B H RURE 3R Ul T 3{-UTd HHRE 4 : 53R 7 : 11 81 AR B &I
AU I 2 : 5 F 31 | [f%d fooar sirar g | gRomH ffgor 8§ RuRe 3R url a1
3{UTd T 5672

22 .75

53 :75

17 : 25

13 : 20
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The price of oil is increased by 20%. However, the expenditure on it increases
by 15%. What is the percentage increase or decrease in the consumption of oil?

dd & G H 20% DI di sldl o | BIifdy, 39 R o9 15% §¢ Sl ¢ | dd i JUd
o foba- ufdwrd gl a1 HHl g3 672

6%%, decrease
4%%, decrease
14%%, increase

6%%, increase




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person makes a profit of 17% after allowing 10% discount on its marked price.
If he gives 14% discount on the marked price, then his profit percent is:

U Aldd bl 98 & 3ifdhd Jed TR 10% DI FE & & d1G 17% DT a1 DA G |
i g 3ifdd Hed W 14% B B¢ odl o, dl 3T arH Wid2Id .

11.8

14.6

10.6

23.8
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The ratio of the mean proportional between 0.7 and 2.8 and the third
proportional to 2.5 and 3.5 is:

0.7 3R 2.8 & &I & TN 3R 2.5 3R 3.5 b JaiF-yIcl &l 3Urd B:
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gic T DI 15% S AT BT 31 D 20% P &RI6R ¢ | 3! 31 DI 3IUTd H]
g7

If 15% of Amit's income is the same as 20% of Rohit's income. What is the
Ratio of their income?
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gfe I B & 25% d¢ SIdl &, A URAR B 39! @9d & [Hd-T % HH B
gl fd g JHH Vg2

If rate of sugar increases by 25%, then family has to reduce its consumption by
what % to keep the expenditure same?

30%

25%

20%

15%
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gfc U 31d Dl U Yol H 20% Pl dlg 3R sqP! dISTs H 10% DI HHI B! Sl
g1 dl 39 &F%hd | Ufawd uRadd J1d diford |

If a side of a rectangle is increased by 20% and its breadth is decreased by
10%. Then find the percentage change in the area.

16%
10%
8%

12%
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ORT&T U1 B P [oTT BT Bl 35% i G Hdl ol dfc 98 105 3P UId Hdl o
31X 35 3Pl G B gl 9idl o | dI dg 3iferedd fhd i Ut & G dl UI?

Karan requires 35% to pass the exam. If he gets 105 marks and falls short by
35 marks. What was the maximum marks he could have got?

100

200

300

400
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gfe [hdl 195 BT 3= 25% dd d¢ Sildl & 3R 8 20% 9 Sl ©, dl 441 HH 5/4
gIdl g | Al f¥9 &1 aRdid® HH =1 g2

If the numerator of a fraction is increased by 25% and denominator decreased
by 20%, the new value is 5/4. What is the original value?

3/5

4/5

718

3/7
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gic U 97 D YTl T 10% &I df 85 o dI, 39D &FAhd § i 1 Uid=Id I1d
IR

If the sides of a square is increased by 10%. Then, find the percentage of
iIncrease in its area.

20%

23%

21%

20.5%




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

gie T Pl 24% ITD 18% I 60 AP ©, dl TS &

If 24% of a number exceeds its 18% by 60, then the number is:

100

500

1000

600
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1 litre of water is added to 5 litres of alcohol-water
solution containing 40% alcohol strength. The
strength of alcohol in the new solution will be

40% 3Tchiecd hi IMfo ol 5 el Achledd-9HT &
faerem § 1 wftex gt faemn smar g1 T faorea o
3ehigd ki Ifad BIi—

2 1

(1) 30% (2) 33% (3) 335 % (4) 333 %
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A litre of pure alcohol is added to 6 litres of 30%
alcohol solution. The percentage of water in the so-
lution is

30% 3Tcehied Hidd oh 6 ©ileX H Teh il IG 3cohled

fietrn T oSl ° STl 1 gfava e—
(1) 50% (2) 65% (3) 60% (4) 40%
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How much pure alcohol has to be added to 400 ml of

a solution containing 15% of alcohol to change the
concentration of alcohol in the mixture to 32% 7

fedt 400 foef. faomm o, 599 15% stewieia ©, faa
IS STeehigicl THE STE, qifeh Wi fa9or § siewhigial ol
g5l 32% &1 S 2

(1) 60 ml/fHel. (2) 100 mI/faet.

(3) 128 ml/fHaet. (4) 68 ml/THel.
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The ratio in which two sugar solutions of the con-

centrations 15% and 40% are to be mixed to get a
solution of concentration 30% is

15 Gfaera aem 40 9iaed 9sdl arel &1 =41 & Siel ol

forg e1urd | et e, arfer 30 Ifaerd |rsar arel =id
g @l ?

(1)2:3 2)3:2 3)8:9 (4 9:8
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In an examination 70% of the candidates passed
In English. 80% passed in Mathematics. 10% failed
in both the subjects. If 144 candidates passed in
both, the total humber of candidates were :

fordt oden o 70% Jsh TS § 9 Y, 80% iU |
9 gT a4 10% <F fawai o et g | afs <A1 faoai o
144 FARH 99 BU, T JA™ i ol G&AT ofi—
(1) 125 (2) 200 (3) 240  (4) 375
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A candidate who gest 20% marks in an examina-
tion, fails by 30 marks. But if he gets 32% marks,
he gets 42 marks more than the minimum pass
marks. Find the pass percentage of marks.

U qdenedt i feret whan § 20% 3 9w g SR 9% 30
3kl H &l Bl TN, Toh=q A o8 32% 3k U< skl I
3 AqH 3Tk H 42 3k 34k U BId| ITATOThI o
gfaeradr A

(1) 52% (2) 20% (3) 25%  (4) 12%
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In a test consisting of 120 questions, Anuradha
answered 65% of the first 60 questitons correct-
ly. What percentage of the remaining questions
does she need to answer correctly to score 75% in
the test?

120 AT STell Toh 90& |, U 4 98ad 60 Ul H ¥
65% T F&l 3 a1 gden °§ 75% 31 A i oh
fow 39 v fopaq wfaerd oo o6 @ SW 3F Bi?
(1) 80 (2) 85 (3) 84 (4) 90
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The sum of two numbers is 520. If the bigger num-
ber is decreased by 4% and the smaller number is
increased by 12%, then the numbers obtained are
equal. The smaller number is

< WEemstl w1 AT 520 2 AfK 376 FE W& Hi 4% FH

T fer Sw 3R B w1 12% 9@ e S, 9w
HEAU THTAE 81| GeddR, ST S G i | 872

(1) 280 (2) 210 (3) 240 (4) 300
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A person saves 25% of his income. If his income
is increased by 20% but still he saves same
amount as earlier then how much percent of his
expenditure increased ?

Ush Al STTT 3T HT 25% =Tl 2| AfE SHh! 2 |
20% H1 dfg & St € IR fR ot 98 9@ o R
YT ST ®, STk @9 U g gfs o1 wfqea fea

2 1
26— 25—
(1) 24 (2) 3 (3) 25 (4) 3
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A, B and C spend 80%, 85% and 75% of their
incomes, respectively. If their savings are in the
ratio 8 : 9 : 20 and the difference between the

incomes of A and C is # 18,000, then the income
of B is :

A, B 3R C 3191 219 &1 %A 80%, 85% 3 75%
Td i 81 A€ STR! o9d HT U 8 1 9 : 20 7 A
AR C I 3™ | 18,000 9T T ¥ 2, a1 B i 31
1 BrM 2

(1) 7 24, 000 (2) 7 27,000

(3) ¥ 30, 000 (4) 7 36,000
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Rama’s expenditures and savings are in the ratio
5 : 3. If her income increases by 12% and expen-
diture by 15%, then by how much per cent do her
savings increase ?

W& I AN T T 5 : 3 H1 M 2| AR STHT 3
T 12% T T § 15% &I gig & ST, 9 SHHR! a=d |
fora gfaea =1 gfg grf?

(1) 12% (2) 7% (3) 8% (4) 13%
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A person gave 20% of his income to his elder son,
30% of the remaining to the younger son and 10%
of the balance, he donated to a trust. He is left
with ¥ 10080. His income was :

U SAfd  3TTHI 3T h1 20% A9 9 G bl T
qeT I HT 30% A B YA H T 54T | I = g8
U 1 10% SHT Tk 22 & < foar 3R 39 YR SEh
99 10080 ¥9F &9 | IHh! A efi—

(1) ¥ 50000 (2) T 40000
(3) ¥ 30000 (4) T 20000
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In an examination, 53% students failed in sci-
ence, 48% failed in Mathematics. If 40% students
failed in both subjects then what percent age of
students passed in both subjects.

T W §, 53% fomneff fagm # SR 48% Wit H
ST g AR 40% fa=neft M1 fawai o ool gu o
foraq gfaera fommeft <M fowai o 3ol gu?

(1) 43% (2) 51% (3) 49% (4) 39%




